A = O & W9 A

SIAHHAE 20094
Glare £ 18
(=] .

2 M J=ESH -~ =2
3 A o LEEA CEE:ED)
VORI E B - B (S == Off AFoH JIE Ol Atod w2t & E 2 A
ES Al 1,771,268 1,697,293 73,975
=21 1,771,268 1,697,293 73,975
sZTNE dAD|IsEg ¥ sIdg8X s 1,697,308 1,620,833 76,475
sHEEX& 298,482 299,482 21,000
SIHE SN XA 47,600 48,600 21,000
301 LErEAZ 11,600 12,600 A 1,000
11,600 12,600 A1,000) 10 AL HIE & Z A 1,000
O sJt29E ns S (0aE2)
& 400,000& - J1& 1,400,000& = 21,000
sEXNTI 2 F2oIZ2H(01Y) 29,120 29,120 0
201 Lpt 9 19,320 19,320 0
19,320 19,320 0[02 2322l 0
02322 2 WA 0
O EIP UMS AIAEI AIEZ2(MEHE)
3& 8,760,000& - J|& 8,760,000& = 0
(2 &Z 7,446 |8 1,000] [& 6,446]
(Al 2F 1,314 JI& 7,760] [Al N6,446]
405 XtabE S| 9,800 9,800 0
9,800 9,800 001 RrMtL 2 EFSHI 0
0 Nsd ZH S22 (HasHd)
34 9,800,000& - J1& 9,800,000& = 0




D=2
SEA2 MADIEEE Y SIHAAXNE
SN2 (S @)
SRR 0l ey J1F ol arod HREZ &2 2
(2 &3& 9,800 JI&E 5,000] [= 4,800]
(A 23 071 4,800] [Al A4,800]
AE Ml E= 590,063 540,588 49,475
DSE B ML 119,775 72,550 47,225
207 &1L bl 70,400 20,000 50,400
70,400 20,000 50,400 03 Al'E &4l 50,400
0158 =SAE ASAE
63,000,000& = 80/100 = 50,400
301 et2 a3 4,200 7,300 A 3,100
4,200 7,300 A3,100( 10 SHAIAHI 2 &= 23,100
O BIS A AIBARS OO AR )
a8 1,000,000& - JI&¥ 2,100,000& = A 1,100
O] BTHBH SO B X1 OF & (0 A4 R 24
2R 400,00020 ~ JIE 2,400,008 = A2,000
405 XtArE S H| 95 1,000 AT5
925 1,000 AT5(01 TR S FFH SHI AT5
O Z20l2 YRFE ZHI P (HAED)
Z2& 925,000& - JIE 1,000,000& = AT5
SHEsTNANYH 2F 42,988 43,338 A 350
405 THAHF SHI 14,650 15,000 A 350
14,650 15,000 A350|01 AL ESFH SHI A 350




N olE23n
B sEA2 MAI|SEE Y SIHHYNE
9 ABEE MIIE 23 (S @)
SRR 0l ey J1F ol arod HRE2 N
[ EL9IXIE S AIAL (PDA) 2L (0 4HE )
28 4,750,000& - J1& 5,000,000& = A 250
O D& AIAE R (0] A=)
23 9,900,000& - J1& 10,000,000& = A 100
HERESESSIHIXNAREY 36,200 33,600 2,600
307 BIZtoI A 36,200 33,600 2,600
36,200 33,600 2,600(02 2IAHABZ 2,600
O EHIEXAY 2,600
O HERSIZTINARAEY
28 36,200,00080 - JIE 33,600,0008 = 2,600
€ 3H 7,168 71 & 6.720] [= 448]
(Al BE 29,032 J|I& 26,8801 [Al 2,152]
R4 Y gt 808,763 780,763 28,000
SRR 157,896 127,896 30,000
207 A IHEH| 30,000 0 30,000
30,000 0 30,000( 03 Al& 24| 30,000
mECELEPGEIL 100,0002 * 30074 = 30,000
SHEM ABAEAT 72,167 74,167 A2,000
301 et2 a3 4,100 6,100 22,000
4,100 6,100 A2,000( 10 SHAIAIHIE &= A2,000
O NEasIt e@zst ol
a8 2,000,000& - JIE 4,000,000& = A2,000




(29 &)
Arel JIE oo U=t A E 2
73,960 76,460 £2,500
32,320 34,820 A2,500
Ol=22D) 32,320 34,820 A2,500
24,320 26,820 A2,500
24,320 26,820 £2,500|01 AL 22IHI A2,500
0 et A2,500
O 2ABH RNZ2IHI(HL4R)
2H 3,500,0002 - JIE 6,000,008 = A2,500




